














Some ice are rings. 

No ring is paint. 

Some rings are gold. 

Conclusions : 

(I) No any gold is paint 

(II) No any ice is gold 

(III) Some rings are paints 

(a) Only I and III follows 

(b) Only I and II follow 

(c) Only III and IV follow 

(d) Only II and III follow 

(e) None of these 

42. Statements :  

All gates are flowers. 

Some gates are fruits. 

Some flowers are clips. 

Conclusions :  

(I) Some flowers are fruits. 

(II) Some clips are fruits. 

(III) Some clips are gates. 

(IV) No any flower is fruit. 

(a) Only I follows 

(b) Only I and IV follows 

(c) Only II and IV follows 

(d) Only I and III  follows 

(e) None of these 

43. Statements : 

No candle is bell. 

Some shoes are bells. 

All tables are shoes. 

Conclusions: 

(I) Some  tables are bells 

(II) No table is bell. 

(III) Some shoe are candles 

(IV) No shoes are candle. 

(a) Only I and IV follow 

(b) Only I and II follow 

(c) Only III and IV follow 

(d) Only I and III follow 

(e) None of these 

44. Statements : 

Some films are clouds. 

All rate are clods. 

Some clouds are chairs. 

Conclusions : 

(I) No film is chair. 

(II) Some rats are films 

(III) Some clouds are rats. 
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Directions (66-70) : In each of the following questions a related of figures is followed by five 

numbered pars of figures. Select the   pair of figure which shows similar relationship as that 

given in the  original pair. You are required to select the best answer from among fairly close 

alternatives. 
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Directions (71-75) : In each of the following questions is four out of the five figures, element I 

is related to element II in the same particular way. Find out the figure in which the element I is 

so related to element II.  
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ENGLISH LANGUAGE 

Directions (76-90) : Read the following passage and answer the questions given below it . 

Certain words/phrases are given in bold lo help you locate them   while answering some of the 

questions. 







(a) Persistently  

(b) Hastify 

(c) Feebly 

(d) Deliberately 

(e) Innocently 

86. Idiosyncrasies 

(a) Demands 

(b) Needs 

(c) Deviations 

(d) Ideologies 

(e) Identify 

87. Shoddy 

(a) Extraordinary 

(b) Shabby 

(c) Cheap 

(d) Disadvantageous 

(e) Unprofitable 

Directions (88-90) : Choose the word which  is most OPPOSITE in meaning of the word printed 

in bold as used in the passage. 

88. Inducement  

(a) Incentive 

(b) Motive 

(c) Breach 

(d) Temptation 

(e) Impediment 

89. Justifiable 

(a) Unreasonable  

(b) Formidable 

(c) Irrevocable 

(d) Unscrupulous 

(e) Inevitable 

90. Contemptuously 

(a) Amicably 

(b) Reasonably 

(c) Respectfully 

(d) Methodically 

(e) Indecisively 

Directions (91-95) : Rearrange the following six sentences (A), (B), (C), (D), (E), and (F) in the 

proper sequence to form a meaningful  paragraph; than answer the question given below them. 

(A)  The application of economic. Environmental and consumer pressures have been on an 

increase in recent years. 

(B) As a result, our agro-food production and technology are amongst the most advanced in 

the world. 

(C) They are thus able to provide expertise and technology to satisfy the needs of agro-food 

production. 

(D) In turn, the support industries have developed to an equally advanced state. 

(E) They have also equipped themselves with the necessary expertise to satisfy the most 

exacting requirements of the overseas markets. 





98. The police nabbed a notorious criminal who had been terrorising builders and 

extorted money from them for the  past two years. 

(a) Was terrorising builders and extorted  

(b) Had  not been  terrorised builder and extorted 

(c) Had been  terrorising builders and  extorting 

(d) Had terrorised builders and extorted 

(e) No  correction  required 

99. Managers  frequently encounter situations where they need to help other solved 

problems. 

(a) To helping others solved 

(b) Help others solved 

(c) To help others solve 

(d) Help others solving 

(e) No correction required 

100.  From among various alternatives we  should choose the one which is viable 

and consumes less time and energy. 

(a) Is viable and consuming lesser 

(b) Is viability and consumes less 

(c) Being viable and consumed less 

(d) Has  viable and consuming less 

(e) No correction required 

101. We are looking forward for good rains this year. 

(a) Are looking forward to  

(b) Have looked forward for 

(c) Have been looking forward at 

(d) Should look forward with 

(e) No correction required 

102. There is full justification to close down the units which are neither profitable 

nor serving  any social cause. 

(a)   Which are not profitable or serve 

(b) Which have neither profitable nor  serving 

(c) Which have neither profitable nor serve 

(d) Which are neither profitable nor serve 

(e) No correction required 

103. Please take delivery of the material and acknowledgement at the earliest. 

(a) Send acknowledging at the earliest. 

(b) Acknowledge at the earliest 

(c) Acknowledge the earliest 

(d) Early acknowledgement 

(e) No correction required 

104. The Officer had triggered a controversy by charging his superiors by ignoring 

his warning. 

(a) By charging his superiors with ignoring 

(b) With charging his superiors by ignoring 

(c) By charging his superiors after ignoring 

(d) For charging his superiors on ignoring  

(e) No correction required. 















139. The total production of company C in 2001 and 2004 is what percentage of the total 
production of company A in 1999 and 2000? 
(a) 95 
(b) 90 
(c) 110 
(d) 115 
(e) 133.33 

140. What is the difference between the average production per year of the company with 
highest average production and the company with lowest average production in lakh 
tonnes? 
(a) 3.17 
(b) 4.33 
(c) 4.17 
(d) 3.33 
(e) None of these 

Direction (141-145) : Study the following graph carefully and answer the question given 
below it. 
The number of students who joined and left the school in the  beginning of years for six years, 
from 2000 to 2005. 
Initial strength of the school in 1999 = 1500 

 
 

141. What was the increase/decrease in strength of the school from 2001 to 2002? 
(a) Increase by 100 
(b) Decrease by 100 
(c) Increase by 200 
(d) Decrease by 200 
(e) None of these 

142. For which of the following years, the percentage rise/fall in number of students left 
from  the previous years is the highest ? 
(a) 2001 
(b) 2002 
(c) 2003 
(d) 2004 
(e) 2005 

143. How many students were there in the school during the year 2003? 
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(a) 1495 
(b) 1600 
(c) 1550 
(d) 1700 
(e) None of these 

144. During which of the following pairs of years, the strength of school is equal ? 
(a) 2001 and  2002 
(b) 2002 and  2004 
(c) 2003 and 2005 
(d) 2002 and  2005 
(e) 2000 and 2002 

145. The number of students in 2003 is approximately what percent of the number of 
students in 2001 ? 
(a) 85 
(b) 117 
(c) 95 
(d) 103 
(e) 108 

Directions (146-150) : In each of the following questions a number series is given. After the 
series, a number is given followed by (a), (b), (c), (d) and (e). You have complete the series 
starting with the number given following the sequence of the given series. Then answer the 
question given below it. 
 

146. 9   19.5    41   84.5 
12    (a)       (b)    (c)   (d)  (e) 
Which of the following numbers will come in place of (c) ? 
(a) 111.5 
(b) 118.5 
(c) 108.25 
(d) 106.75 
(e) None of these 

147. 4   5    22    201 
  7   (a)  (b)   (c)     (d)    (e) 
Which of the following number will come in place of (d) ? 
(a) 4948 
(b) 4840 
(c) 4048 
(d) 4984 
(e) None of these 

148. 5   5.25   11.5    36.75 
7     (a)       (b)       (c)        (d)     (e) 
Which of the following number will come in  place of  (c) ? 
(a) 34.75 
(b) 24.75 
(c) 24.5 
(d) 34.5 
(e) None of these 

149. 38   19    28.5   71.25 
   18    (a)   (b)      (c)       (d)     (e) 
   Which of the following number will come in  place of  (d) ? 
(a) 118.75 
(b) 118.25 
(c) 108.25 
(d) 118.125 
(e) None of these 
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156. In 2005 the total no. of which the following types of pairs of employees was 
approximately equal to A type of employees in 2006? 
(a)  B and C 
(b) A and C 
(c) D and E 
(d) C and D 
(e) C and F 

157. From 2005 to 2006 in the case of which of the following types of employees the change 
was maximum? 
(a) B 
(b) D 
(c) C 
(d) A 
(e) None of these 

158. What was the approximate different in the number of B type of employees during 2005 
and 2006? 

A 
20% 

B 
6% 

C 
10% 

D 
15% 

E 
27% 

F 
22% 

 2005  
Total no. employees 42,980  

















216. Government of India recently was decided to import wheat at a lower rate of custom 
duty. The effective rate of the duty was. 
(a) 15 per cent 
(b) 12 per cent 
(c) 10 per cent 
(d) 5 per cent 
(e) None of these 

217. As per the reports published recently in the newspapers banks surpassed the target set 
for farm credit was given in this sector in terms of percentage? 
(a) 15 
(b) 20 
(c) 26 
(d) 33 
(e) 43 

218. As per the reports published in the newspapers the National Housing Bank (NHB) is 
planning to launch a Reserve Mortgage scheme specially to held which of the following 
sections of society ? 
(a) People in rural India 
(b) Senior  Citizens 
(c) People living in government accommodations  
(d) Women who  are sole bread winners 
(e) None of these 

219. Which of the following companies has got two contracts to establish two power 
projects in Afghanistan ? 
(a) Bharat Heavy Electricals (BHEL) 
(b) National Hydro Electric Power Corporation (NHPC) 
(c) National Thermal Power Corporation (NTPC) 
(d) Reliance Energy Ltd. 
(e) None of these 

220. Government of India recently introduced some measures/incentives to improve 
tourism in India. Which of the following is one of these measures ? 
(a) Issuance of electronic visa 
(b) Free stay for the three days in Government hotels in four metros  for business 

travellers and frequent players 
(c) Highly subsidised air travel on metro routes for frequent flyers 
(d) Free trip to Agra, Delhi and Jaipur to those coming on educational/study tours 
(e) None of these 

221. How much amount can the Postal Department invest in revenue generating 
instruments and/or stock market to reduce its budgetary deficit? (amount is from its 
insurance schemes). 
(a) Rs. 1,400 crore 
(b) Rs. 2,500 crore 
(c) Rs.  4,500 crore 
(d) Rs. 7,400 crore 
(e) Rs. 10,000 crore 

222.  Plotter are very useful in applications such as. 
(a) Computer aided design 
(b) Word Processing 
(c) Financial Accounting 
(d) Spell checking  
(e)  None of these 

223. Employees details is. 
(a) A master file for the payroll system 
(b) A replica of the monthly pay slip 
(c) Not related to the payroll system 





Answers 
 

 
  



Explanations 
 

(1-5)  

Person City Specialisation 
P. Hyderabad Literature 
Q. Calcutta Computers 
R. Mumbai Marketing 
S. Chennai Textile/ Economics 
T. Delhi Textile / Economics 
V Trivandrum Physics 
X.  Bangalore Information Technology 
  

(6-10). After careful analysis of the given passcodes for successive batches we   can conclude 

that   the passcode for the  next batch is generated by rearranging the words of the passcode of 

previous batch in the following manner: 

BATCH I ( 9 AM TO 10 AM) 

Passcode: 

1     2    3    4    5   6    7 

Course easy set for each year was  

BATCH II ( 10 AM to 11 AM) 

Passcode: 

2     5      1      4      7     3    6 

Easy each course for was set year 

1      2     3     4     5    6     7 

BATCH III (11 AM to 12 Noon) 

Passcode:  

2       5       1     4       7     3     6 

Each was easy for  year course set 

1       2       3       4      5     6     7 

BATCH IV (12 Noon to 1 PM) 

Passcode:  

2      5         1       4       7      3     6  

Was year each for set easy course  

1         2        3        4       5      6      7 



BATCH V (2 PM to 3 PM )  

 

Passcode:  

 2          5         1        4        7        3     6   

Year set was for course each easy 

1           2          3        4         5       6     7 

 BATCH VI (3 PM to 4 PM ) 

Passcode:  

 2            5         1         4         7      3     6 

Set course year for easy was each 

1             2           3        4        5       6     7 

BATCH VII (4 PM to 5 PM) 

Passcode :  

2            5         1         4         7      3     6 

Course easy set for each year was 

1             2           3        4        5       6     7 

BATCH VIII (5 PM to 6 PM ) 

Passcode :  

2            5         1         4         7      3     6 

Easy each course for was set year  

1             2           3        4        5       6     7 

 BATCH IX (6 PM to 7 PM 

Passcode :  

2            5         1         4         7      3     6 

Each  was easy for year course set 

1             2           3        4        5       6     7 

BATCH X (7 PM to 8 PM) 

Passcode :  

2            5         1         4         7      3     6 



Was year each for set easy course 

Thus, we  see that after Batch VI, the passcode for each subsequent batch is repeated starting 

from the Batch I. In other words, the following pairs of Batches have the same passcode. 

(a) Batch I and Batch VII 

(a) Batch II and Batch VIII  

(a) Batch III and Batch  IX  

(a) Batch IV and Batch X  

On the basis of above analysis we can write any required passcode directly from the given 

passcode in the following manner. 

 

 

BATCH                                                      PASSCODE  

I  1 

Course 

2 

Easy 

3 

set 

4 

for 

5 

each 

6 

year 

7 

was 

II 

III 

IV 

V 

VI 

VII 

VIII 

IX 

X 

2 

5 

7 

6 

3 

1 

2 

5 

7 

5 

7 

6 

3 

1 

2 

5 

7 

6 

1 

2 

5 

7 

6 

3 

1 

2 

5 

4 

4 

4 

4 

4 

4 

4 

4 

4 

7 

6 

3 

1 

2 

5 

7 

6 

3 

3 

1 

2 

5 

7 

6 

3 

1 

2 

6 

3 

1 

2 

5 

7 

6 

3 

1 

6.  BATCH IV (12 Noon to 1 PM) 

      7       6      5       4      3      2     1 

     She the girl is clever very good 

     BATCH VI (3 PM to PM)  

      3       1       6       4      2     7    5  

    Clever good the is very she girl 

7. The passcode for the batch IX will be similar to the passcode for the  batch III. 







     It is clear that K is 

 

18. Statements  

   F @ G, G? P, P x H 

   After conversion  

    F > G, G < P, P > H 

    Or (i) F > G < P > H 

              Or 

   (ii) F = G < P > H  

  Conclusions 

    I. F @ H = F > H  

    II. H x G = H > G  

    Neither conclusion I nor II is definitely true.  

19. Statements  

    M @ T, T x R, R $ Q  

    After conversion 

    M > T, T > R, R > Q or R < Q  

   Or (i) M = T > R > Q  

       (ii) M > T > R > Q  

       (iii) M > T > R < Q  

       (iv) M = T > R < Q  

 Conclusions  

    I . M ? R = M < R  

     It is clear that M is greater than R. 

     Therefore, conclusion I is not true.  

    II. M ? Q = M < Q 

   From statements (i) and (ii) M is greater than Q builts is not possible to determine any definite     

relation between M and Q from statements (iii) and (iv).  

20. Statements  

      D x G, G @ K, K + M 





    S > T > P and  Q  

     From statements II 

  >      >       >       >  R 

     From both the statements 

       S > T > P  and  Q > R  

     Either P or Q will come at the third place. 

24. From Statements I. 

      P is the husband of R, who is the daughter of J. 

      There is no information about the other daughter of J. 

     From statements II 

      Q is the mother of S and R. 

      S is daughter of Q and sister of R.  

      From both the statements  

      J is the husband of Q  

      Q is the wife of J. 

     J is father of R and S 

     R and S are daughter of J and  Q.  

      Q is the mother of R and S 

      P is the husband of R and hence P is the son-law of Q. 

25. From statement I.  

     De  fu           pane = rose flower is  

                   Quiz = beautiful tree 

         No answer. 

 From statement II  

   De la                        =   rose flower 

    Pa                            =      tea  

      Both the statements provide different coding pattern. 

 

    

la beautiful 

la 

Chin                   red                 

Chin                   red                 













       The pattern off coding is as follows: 
          P 
          +2  
         P    R 
 
         O     +2           Q 
 
         U    +3     X 
       
         L      +2           N 
 
        T      + 2          V  
 
        R      +2           T 
 
         Y                      Y 
   Similarly, 
  T 
 
         T     +2  V 
 
         R     +2         T 
    
           E       +3        H 
            
           A     +2           C 
 
           S      +2          U 
 
           O    +2           Q 
 
           N N 
 Therefore, our required answer is option (d). 
 
54. According to question the new sequence would be : 
        ACEGIKOQS       WYZXVTRPNLJHFDB 
 
 
       11th from left 
     6th to the left of 17th left means (17-6) =11th  letter left i.e. 21st letter from left in the original 
sequence.  
 
55.   1            3   6   7   8   9  10   12  
 
             T  L     I   S   H   M    N       
 
       Specified letters : S, A , B, E. T 
       Meaningful words:  BEAST, 
            BEAST 
(56-60) : The given information can be analysed as:  
       
 

Candidate CRITERIA 

U

   

2 

S 

   

4 

S 

   

5 

B 

   

11 

E 

   

13 

T 

   



























            q  =  -2, 1 
                     p2   +7p + 10= 0 
                   p2   + 5p + 10 =0 
       p2  + 5p + 2p +10 =0 
II.          p(p+5) +2(p+5) = 0 
                       (p+5) (p+2)=0 
                   P  = 5, -2 
            Thus,                    q > q  
 
 174.  I.                  p2  + 16=8p  
          p2   - 8p + 16 = 0 
      (p-4)2     =0 
                P =4 
II.               4q2  + 64 = 32q  
                              q2 + 16 = 8q 
                       q2 -8q  + 16 = 0 
                                 (q -4)2 =0 
                                          q =4 
Thus,                                p=q 
 
175.       2p2 + 12p + 16 =0 
         p 2 +6p  +8 =0 
  p2 +2p + 4p +8=0 
  p(p+2) +4(p+2)=0 
          (p+2)(p+4)=0 
              P = -2, -4 
II.       2q2 + 14q +24 =0 
           q2 +7q +12=0 
   q2 +3q +4q +12=0 
    q(q+3)+4(q+3) =0 
        (q +3)(q+4)  =0 
    q=-3, -4, 
Thus,,    p> q 


